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Practice ' Day 3
1) Given thesc preference schedules, identify the Plurality, Borda,
Runoff, Sequential Runoff, and Condorcet winners.
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Practice, Day 3
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2) If each voter approves of only the top three in his ranking, which is @m—&q

the Approval Voting winner? . ©
FSen QooR 3(5*"\ shde) + (hethod ¢

I°Xs wale & QXQ\N’\“'\TN\ ® mﬁ\r\S
(i L win
A2 v + 179+ 1) 130D H1e3)+22M™) :M 5%‘%

Porda gy 1w NTGF 19 H) F13(3) +1b() +a96) = 3

eeed e ) H 1 (2) F1g(5)#)1a0s) + 1L +aa(3) = 30l
DS IA() + 1) ¥ 19(2) +12(H) +1b(E) F33G) =26 1
EHG) YT ) +190) W@ +16(4) + a3 ()7 23D

Scanned with Cam



Warm-up Day 3
Given these preference schedules, identify the Plurality, Borda, Runoff,
Sequential Runoff, and Condorcet winners.
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Warm-up Day 3 ANSWERS

Given these preference schedules, identify the Plurality, Borda, Runoff,
Sequential Runoff, and Condorcet winners.
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Plurality: C  Borda:A  Runoff: B Seq. Runoff: A Condorcet: None
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Warm-up Day 3

If cach voter approves of only the top three in his ranking, which is the
Approval Voting winner?
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Warm-up Day 3 ANSWERS
If cach voter approves of only the top three in his ranking, which is the
Approval Voting winner?
E—+ A+ C—+ C—+ D+ B+
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Approval: A
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